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Question Numbers : (1 to 5)
Question Label : Comprehension



Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology. the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time. and improving technology. the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634041424 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Movies that had no sound were called movies

1. dumb
2. mute
3. muffled
4, silent

Options :

686340163601. 1

686340163602. 2

686340163603. 3
686340163604. 4

Question Number : 2 Question Id : 68634041425 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340163605. 1
686340163606. 2
686340163607 3
686340163608. 4



Question Number : 3 Question Id : 68634041426 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing
2. reviewing/developing
3. filming / processing
4. filming/developing
Options :
6863401636009. 1
686340163610. 2

686340163611. 3
686340163612. 4

Question Number : 4 Question Id : 68634041427 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The of the soundtrack to the action m the film revolutionized the process of film making.
1. stitching
2. synchronization
3. adhermng
4. business
Options :
686340163613. 1
686340163614. 2

686340163615. 3
686340163616. 4

Question Number : 5 Question Id : 68634041428 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What 1s the main idea of the passage?
1. Film making is an easy job.
2. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtracl.

Options :



686340163617. 1
686340163618. 2
686340163619. 3
686340163620. 4

Question Id : 68634041423 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology, the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time, and improving technology, the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634041424 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Movies that had no sound were called movies
1. dumb
2. mute
3. mufiled
4, silent

Options :

686340163601. 1
686340163602. 2
686340163603. 3
686340163604. 4

Question Number : 2 Question Id : 68634041425 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340163605. 1
686340163606. 2
686340163607 3
686340163608. 4

Question Number : 3 Question Id : 68634041426 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing

| B

. reviewing/developing

Lad

. filming / processing
4. filming/developing

Options :

686340163609. 1
686340163610. 2
686340163611. 3
686340163612. 4

Question Number : 4 Question Id : 68634041427 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The of the soundtrack to the action in the film revolutionized the process of film making.

1. stitching

| B

. synchronization
3. adhering
4. business

Options :

686340163613. 1
686340163614. 2
686340163615. 3



686340163616. 4

Question Number : 5 Question Id : 68634041428 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the main idea of the passage?

1. Film making is an easy job.

| B

. Advancement in technology has had a tremandous impact on film making
3. Silent movies and tallkies were destined to become obsolete
4. Colour movies with a soundtrack are better than black-and-white movies with a soundtrack.

Options :

686340163617. 1
686340163618. 2
686340163619. 3
686340163620. 4

Sub-Section Number : 2
Sub-Section Id : 6863401362
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634041429 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningtul sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. i the southwest of England

D. in Wistman's Wood in Dartmoor National Park

1.LAB.C.D

[ ]

DCB.A
3.B.D.A.C
4.C,A,D,B

Options :

686340163621. 1
686340163622. 2
686340163623. 3
686340163624. 4



Question Number : 6 Question Id : 68634041429 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningful sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. in the southwest of England

D. in Wistman's Wood in Dartmoor National Park

LABC.D

| )

.D,C,B.A
3.B.D.A.C
4.C.A.D.B

Options :

686340163621. 1
686340163622. 2
686340163623. 3
686340163624. 4

Question Number : 7 Question Id : 68634041430 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a one-word substitute for "the art of beautiful handwriting"?

fa—y

. Epigraphy

[ )

. Calligraphy

Lad

. Cartography

=

. Topography

Options :

686340163625. 1
686340163626. 2
686340163627. 3
686340163628. 4

Question Number : 7 Question Id : 68634041430 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a one-word substitute for "the art of beautiful handwriting"?

1. Epigraphy

| B

. Calligraphy

LIPS ]

. Cartography

=

. Topography

Options :

686340163625. 1
686340163626. 2
686340163627. 3
686340163628. 4

Question Number : 8 Question Id : 68634041431 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

LIPS ]

. disruptive
4. obsequious

Options :

686340163629. 1
686340163630. 2
686340163631. 3
686340163632. 4

Question Number : 8 Question Id : 68634041431 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

L]

. disruptive
4. obsequious
Options :

686340163629. 1
686340163630. 2



686340163631. 3
686340163632. 4

Question Number : 9 Question Id : 68634041432 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct pair of prepositions to fill in the blanks of the following sentence:

She walked her friend the rally to support the workers.

1. beside. during

| )

. besides. beside
3. during, beside
4. with. on

Options :

686340163633. 1

686340163634. 2

686340163635. 3
686340163636. 4

Question Number : 9 Question Id : 68634041432 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Choose the correct pair of prepositions to fill in the blanks of the following sentence:
She walked her friend the rally to support the workers.
1. beside. during
2. besides. beside
3. during. beside
4. with. on
Options :
686340163633. 1
686340163634. 2

686340163635. 3
686340163636. 4

Question Number : 10 Question Id : 68634041433 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Word Tvpe of pronoun
A lwhat I jreflexive
B. lmyself II. kelative
C. |his II1. jindefinite
D_ [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-L. C-IV, D-III

[ ]

AT BT C-II, DIV

L]

AT B-L C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340163637. 1
686340163638. 2
686340163639. 3
686340163640. 4

Question Number : 10 Question Id : 68634041433 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Word Type of pronoun
A lwhat I jreflexive
B. jmyself II. kelative
C. |his ITT. Jindefinite
D. [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-I. C-IV. D-III

[ ]

AT BT C-II, DIV
3. A-IIT, B-I, C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340163637. 1
686340163638. 2
686340163639. 3
686340163640. 4



Question Number : 11 Question Id : 68634041434 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

(B

.16

4,22

Options :

686340163641. 1
686340163642. 2
686340163643. 3
686340163644. 4

Question Number : 11 Question Id : 68634041434 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

b2

16

4, 22

Options :

686340163641. 1
686340163642. 2
686340163643. 3
686340163644. 4

Question Number : 12 Question Id : 68634041435 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Simplify

09-[23-32-(73-54-3.7)]

[ )
=

4,-2.6

Options :

686340163645. 1
686340163646. 2
686340163647. 3
686340163648. 4

Question Number : 12 Question Id : 68634041435 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Simplify

09-[23-32-(73-54-3.7)]

1.0.18

| )
=

4.-2.6

Options :

686340163645. 1
686340163646. 2
686340163647. 3
686340163648. 4

Question Number : 13 Question Id : 68634041436 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Perimeter of a square is same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

L P58 BFEE
2. 10:9
3. 114:113

4, 196:187

Options :

686340163649. 1
686340163650. 2
686340163651. 3
686340163652. 4

Question Number : 13 Question Id : 68634041436 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square 1s same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1. 17:11
2. 10:9
3. 114:113

4. 196:187

Options :

686340163649. 1
686340163650. 2
686340163651. 3
686340163652. 4

Question Number : 14 Question Id : 68634041437 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for 1year,
payable half yearly and the simple interest for 1 year is ¥ 56. The sum 1s:

1.2 5,780

[ ]
AH
=
e}
=
F



Options :

686340163653. 1
686340163654. 2
686340163655. 3
686340163656. 4

Question Number : 14 Question Id : 68634041437 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for 1year.
payable half yearly and the simple interest for 1 year 1s T 56. The sum 1s:

1.3 5,780
2.3 7.805
3.2 7.850
4,3 8,750
Options :
686340163653. 1
686340163654. 2

686340163655. 3
686340163656. 4

Question Number : 15 Question Id : 68634041438 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of three boys 1s 22 years. Eight times the age of the youngest of them 1s 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he 1s 8 years older to the youngest of them.

1. 24 years
2. 25 years
3. 26 years
4. 28 years
Options :
686340163657. 1
686340163658. 2

686340163659. 3
686340163660. 4

Question Number : 15 Question Id : 68634041438 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average age of three boys is 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 vears

| )

. 25 years
3. 26 years
4. 28 years
Options :
686340163657. 1
686340163658. 2

686340163659. 3
686340163660. 4

Question Number : 16 Question Id : 68634041439 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing,

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or II follows

Options :

686340163661. 1
686340163662. 2
686340163663. 3
686340163664. 4

Question Number : 16 Question Id : 68634041439 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or IT follows

Options :

686340163661. 1
686340163662. 2
686340163663. 3
686340163664. 4

Question Number : 17 Question Id : 68634041440 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340163665. 1
686340163666. 2
686340163667. 3
686340163668. 4

Question Number : 17 Question Id : 68634041440 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340163665. 1
686340163666. 2
686340163667. 3
686340163668. 4

Question Number : 18 Question Id : 68634041441 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certain coding system. 1f2=15,4=18. 6 =39 then 10 =7

1. 105

| B
Yok
=
i

4.54

Options :



686340163669. 1
686340163670. 2
686340163671. 3
686340163672. 4

Question Number : 18 Question Id : 68634041441 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certam coding system. 1f2 =15, 4 =18. 6 = 39 then 10 =7

1. 105

[ )

. 104
3.89
4.54

Options :

686340163669. 1
686340163670. 2
686340163671. 3
686340163672. 4

Question Number : 19 Question Id : 68634041442 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the mirror image of the given combination
"ANS4WMG3"
LEOMWEREZHMA
ZEDWMPSNY
33GWMt2 MV
41 ECWMYPIUY
Options :
686340163673. 1
686340163674. 2

686340163675. 3
686340163676. 4

Question Number : 19 Question Id : 68634041442 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the mirror image of the given combination

"AN5S4WMG3"
LEDMWEREZMA
2.EDWMPSNV
3.3GWMYR2MY
4L ECWM P2 UV

Options :

686340163673 1
686340163674. 2
686340163675. 3
686340163676. 4

Question Number : 20 Question Id : 68634041443 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In you were born on 6th
birthday fall in 19847

November. 1983. which was a Sunday. then on which day of the week does your

1. Monday

2. Wednesday
3. Tuesday

4, Friday

Options :

686340163677. 1
686340163678. 2
686340163679. 3
686340163680. 4

Question Number : 20 Question Id : 68634041443 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In you were born on 6" November, 1983. which was a Sunday. then on which day of the week does your
birthday fall in 19847

1. Monday

b2

. Wednesday

L

. Tuesday

=

. Friday

Options :

686340163677. 1
686340163678. 2
686340163679. 3
686340163680. 4

Question Number : 21 Question Id : 68634041444 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis 1s known as

1. Polar Satellite
2. Stationary Satellite
3. Geostationary Satellite
4. INSAT
Options :
686340163681. 1
686340163682. 2

686340163683. 3
686340163684. 4

Question Number : 21 Question Id : 68634041444 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis is known as

1. Polar Satellite

[ B

. Stationary Satellite

3. Geostationary Satellite

f-%

INSAT



Options :

686340163681. 1
686340163682. 2
686340163683. 3
686340163684. 4

Question Number : 22 Question Id : 68634041445 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KORAPUT
D. [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III

L]

AT B-IV. C-1, D-II
4. AT B-1, C-IV, DI

Options :

686340163685. 1
686340163686. 2
686340163687. 3
686340163688. 4

Question Number : 22 Question Id : 68634041445 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KORAPUT
D [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III
3. AIIL, B-IV, C-1, D-II
4. A1 B-1, C-IV, DI

Options :

686340163685. 1
686340163686. 2
686340163687. 3
686340163688. 4

Question Number : 23 Question Id : 68634041446 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor

[F%]

. Interpellation
4. Yielding the floor

Options :

686340163689. 1
686340163690. 2
686340163691. 3
686340163692. 4

Question Number : 23 Question Id : 68634041446 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor

Lad

. Interpellation
4. Yielding the floor

Options :

686340163689. 1
686340163690. 2
686340163691. 3
686340163692. 4

Question Number : 24 Question Id : 68634041447 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. N M Joshi
C. |Servant of Indian society IT1. [Dayanand Saraswarti
D_ |Social Sevice League IV |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-IIL, B-IV. C-II. D-I

[ ]

AL B-IV. C-1, D-IT
3. A IV, B-III, C-1, D-II
4. A-II B-TV, C-1, D-1II

Options :

686340163693. 1
686340163694. 2
686340163695. 3
686340163696. 4

Question Number : 24 Question Id : 68634041447 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. N M Joshi
C. |Servant of Indian society IT1. [Dayanand Saraswarti
D_ |Social Sevice League IV |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-IIL, B-IV. C-II. D-I

[ ]

AL B-IV. C-1, D-IT
3. A IV, B-III, C-1, D-II
4. AT B-IV, C-I, DT

Options :

686340163693. 1
686340163694. 2
686340163695. 3
686340163696. 4

Question Number : 25 Question Id : 68634041448 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Point of origin of earthquake wave is known as

1. Seismic zone
2. Focus
3. Photosphere
4, Epicentre

Options :

686340163697. 1

686340163698. 2

686340163699. 3
686340163700. 4

Question Number : 25 Question Id : 68634041448 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Point of origin of earthquake wave is known as

1. Seismic zone

2

. Focus

LFS]

. Photosphere
4, Epicentre

Options :

686340163697. 1
686340163698. 2
686340163699. 3
686340163700. 4

Part B: Dance

Section Id : 686340816
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401363
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634041449 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who among the following Nayakas classifies under Dheeralalita?

1. Ravana
2. Arjuna
3. Krishna
4. Rama

Options :

686340163701. 1

686340163702. 2

686340163703. 3
686340163704. 4



Question Number : 26 Question Id : 68634041449 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafeiRad Argepl & 4 fard diRafad & sidid gified fear S g2

1. 19U]

3. P9
4.3

Options :

686340163701. 1
686340163702. 2
686340163703. 3
686340163704. 4

Question Number : 27 Question Id : 68634041450 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Complete the Shloka-Natyam tannatakam caiva pujyam

1. Kathayutam
2. Purvakavyayutam
3. Purvakathayutam
4. Purvakatha

Options :

686340163705. 1

686340163706. 2

686340163707. 3
686340163708. 4

Question Number : 27 Question Id : 68634041450 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sl i YUl DIfSIL: ATcd¥ ddlchH UsdH

1. YT
2. JdehTogqH
3. JAHUGAH
4. gda Yl

Options :

686340163705. 1
686340163706. 2
686340163707. 3
686340163708. 4

Question Number : 28 Question Id : 68634041451 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which among the following does not classify under saptataalas?

1. Dhruva

| )

. Triputa
3. Ata

4. Chapu

Options :

686340163709. 1
686340163710. 2
686340163711. 3
686340163712. 4

Question Number : 28 Question Id : 68634041451 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafad J 9 fod uddidl & sidiid sifiad el fbar sirdi g?

4,419

Options :

686340163709. 1
686340163710. 2
686340163711. 3
686340163712. 4

Question Number : 29 Question Id : 68634041452 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Lord Shiva taught Bharata the virile dance 'Tandava', through:

1. Parvati

[

. Tandu
3. Brahma

4. Indra

Options :

686340163713. 1
686340163714. 2
686340163715. 3
686340163716. 4

Question Number : 29 Question Id : 68634041452 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YA 219 7 4Rd &1 3oyl - digd ot Rian Mafafad & 9 foad diegs 9 4 db

1. OTddl
. olgll
4.3%
Options :
686340163713. 1
686340163714. 2

686340163715. 3
686340163716. 4

-2

[ ]

Question Number : 30 Question Id : 68634041453 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Lord Brahma compiled 'Natya Veda' by extracting Abhinaya from:

1. Rig veda
2. Samaveda
3. Atharvanaved
4, Yajurveda

Options :

686340163717. 1

686340163718. 2

686340163719. 3
686340163720. 4

Question Number : 30 Question Id : 68634041453 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I sgll A Fafafad J 9 f6ad sifig &1 3eyd didb Hicd de' &l A [bar
1. BTG

. gHdg

- 3yddg

4. g9fda

Options :

686340163717. 1
686340163718. 2
686340163719. 3
686340163720. 4

)

(el

Question Number : 31 Question Id : 68634041454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which among the following is not a Dance Drama choreographed by Smt. Rukmini Devi Arundale?

1. Sita Swayamvaram

[ )

. Jatayu Moksham
3. Sabari Moksham
4. Rama Vanagamanam

Options :

686340163721. 1
686340163722. 2
686340163723. 3
686340163724. 4

Question Number : 31 Question Id : 68634041454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[FrafeiRad o O & 91 J-Ared gl Sfaaul Gdl $eved gRT Jd-Ma3d el 62
1. HidT TgaH

2. SeTg HIgH

3. eI AI&H

4. 3MH d-NTHIH
Options :
686340163721. 1
686340163722. 2

686340163723. 3
686340163724. 4

Question Number : 32 Question Id : 68634041455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s NOT a Sattvika Bhava?

1. Stambha

[ )

. Svarabhanga
3. Aalasya
4. Pralaya

Options :

686340163725. 1
686340163726. 2
686340163727. 3
686340163728. 4

Question Number : 32 Question Id : 68634041455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



MgiRad 1 9 & 91 9ifds 419 ol 62
1. &Y
2. TTHT
3. A"

4. Yoig

Options :

686340163725. 1
686340163726. 2
686340163727. 3
686340163728. 4

Question Number : 33 Question Id : 68634041456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is not a Vyabhichari Bhava?

1. Nirveda

[ B

. Vaivarnya
3. Glani

4. Moha

Options :

686340163729. 1
686340163730. 2
686340163731. 3
686340163732. 4

Question Number : 33 Question Id : 68634041456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafeiad # 9 &1 a1 ouft=R Hig 1el g2
1. Fde
2. 4qudf
3. T
4,918

Options :

686340163729. 1
686340163730. 2
686340163731. 3
686340163732. 4

Question Number : 34 Question Id : 68634041457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
According to Natyashastra. the class of hero who 1s self-controlled and vehement is called:

1. Dhiraprashanta
2. Dhiralalita
3. Dhiroddhata
4. Dhirodatta

Options :

686340163733. 1

686340163734. 2

686340163735. 3
686340163736. 4

Question Number : 34 Question Id : 68634041457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IR b HJHR, RIS 1 dg a4l Sl SHIH-FARd ud yafard gldr 8. 39 ®ed ¢
1. Ry

. dRetferd

. IRId

4. IRIeR

Options :

686340163733. 1
686340163734. 2
686340163735. 3
686340163736. 4

[

lad

Question Number : 35 Question Id : 68634041458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How many matras dose Dipchandi Taala consists of?

1. Fourteen

b2

. Twelve
3. Ten

4, Sixteen

Options :

686340163737. 1
686340163738. 2
686340163739. 3
686340163740. 4

Question Number : 35 Question Id : 68634041458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o<t a1 § foea-iT 91e gidi 32
1. 9eg

3.q4
4. 9Idg

Options :

686340163737. 1
686340163738. 2
686340163739. 3
686340163740. 4

Question Number : 36 Question Id : 68634041459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the following is not a Hasta Praana?

1. Rechitam
2. Samketam
3. Kampitam
4. Preritam

Options :

686340163741. 1

686340163742. 2

686340163743. 3
686340163744. 4

Question Number : 36 Question Id : 68634041459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFaferfad H O @4 91 83d Il Jsl g?
1. faH

4. URdH

Options :

686340163741. 1
686340163742. 2
686340163743. 3
686340163744. 4

Question Number : 37 Question Id : 68634041460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How many matras dose Sultaal consist of ?

1. Seventeen

[

. Ten

[F5]

. Sixteen
4, Twelve

Options :

686340163745. 1
686340163746. 2
686340163747. 3
686340163748. 4

Question Number : 37 Question Id : 68634041460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gefdred H foba-1t AR gidl 82

1. 94g

3. gidg
4. 9%

Options :

686340163745. 1
686340163746. 2
686340163747. 3
686340163748. 4

Question Number : 38 Question Id : 68634041461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Pick the odd one out in the context of Nayika-bheda:

1. Virahotkhandita
2. Kalahantarita
3. Vipralabdha
4. Kriyavidagdha

Options :

686340163749. 1

686340163750. 2

686340163751. 3
686340163752. 4

Question Number : 38 Question Id : 68634041461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ATA®T He & HaH H 99d &1 g
1. feRgIawdfsd

3. faudeT
4. Toharfderen

Options :

686340163749. 1
686340163750. 2
686340163751. 3
686340163752. 4

Question Number : 39 Question Id : 68634041462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which dance technique encompasses not only the technique of rendering rhythm (tala) through movements
which do not have meaning, but also the important feature of projecting specific poses within a given rhythmic
cycle?

1. Natya

[

. Nritta
3. Nritya
4. Karana

Options :

686340163753. 1
686340163754. 2
686340163755. 3
686340163756. 4

Question Number : 39 Question Id : 68634041462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fifebd H 9 I 1 fbd dob-iih H 4 bad Afdg a1 & HiegH ¥ did &l 3
&3 1 yldle giAfgd grefug gg fafed wuds =9 & Hiar fafy Hfiaml & uxdd
R4 @l 1l Hgayul fg=ivdr g2

1. dIA

3. 94
4. O]

Options :

686340163753. 1
686340163754. 2
686340163755. 3
686340163756. 4

Question Number : 40 Question Id : 68634041463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which among the following is not a characteristic of a typical Heroine?

1. Rupa

[ )

. Snigdha
3. Rooksha

4, Guna

Options :

686340163757 1
686340163758. 2
686340163759. 3
686340163760. 4

Question Number : 40 Question Id : 68634041463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



yfafAfde Ay o1 sifiaen Ryfaiad § 9 o aragl g2
1.%9
2. Ry

3.%8

4,707

Options :

686340163757. 1
686340163758. 2
686340163759. 3
686340163760. 4

Question Number : 41 Question Id : 68634041464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the following classifies under Taala dasha prana?
1. Yati
2. Rupaka
3. Hasta

4. Chapu

Options :

686340163761. 1
686340163762 2
686340163763. 3
686340163764. 4

Question Number : 41 Question Id : 68634041464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafafad J 9 fod dre <=1 wior & sidiid aified fobar Sirdi g?
1. gfd

3. 86
4,419

Options :

686340163761. 1
686340163762. 2
686340163763. 3
686340163764. 4

Question Number : 42 Question Id : 68634041465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the following is usually performed in Kathakali behind the curtain?

1. Kalasam
2. Purappadu
3. Manodharma
4. Todayam

Options :

686340163765. 1

686340163766. 2

686340163767. 3
686340163768. 4

Question Number : 42 Question Id : 68634041465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafad J 9 duswdl fhgd! wdfd QHRId: 0 8 J ol il g2
1. HARM

2. XU
3. {1y
4. drsaH

Options :

686340163765. 1
686340163766. 2
686340163767. 3
686340163768. 4

Question Number : 43 Question Id : 68634041466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Upachitivaad 1s advocated by:
1. Abhinavagupta
2. Bhatta Lollata
3. Bhatta Nayaka
4, Bharata
Options :
686340163769. 1
686340163770. 2

686340163771. 3
686340163772. 4

Question Number : 43 Question Id : 68634041466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFafafad d 9 o Iufafade & geeR g2

. ST
. Hg dleere
Mg TS

—

[

lad

4. Hd

Options :

686340163769. 1
686340163770. 2
686340163771. 3
686340163772. 4

Question Number : 44 Question Id : 68634041467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In which year was Jawaharlal Nehru Manipur Dance Academy established?

1. 1925

[ )

. 1936
3. 1956
4. 1954

Options :

686340163773 1
686340163774. 2
686340163775. 3
686340163776. 4

Question Number : 44 Question Id : 68634041467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SATgR el g HAMUGR T SbIGH! i R fhyg v g3 Al

1. 1925

[

. 1936

fad

. 1956

4.1954



Options :

686340163773. 1
686340163774. 2
686340163775. 3
686340163776. 4

Question Number : 45 Question Id : 68634041468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Pick the odd one out in the context of Poorvaranga:

1. Aarambha

2

. Aavritta
3. Parighattana
4, Pratyahara

Options :

686340163777. 1
686340163778. 2
686340163779. 3
686340163780. 4

Question Number : 45 Question Id : 68634041468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gd & e § 90d Dl 9T

1. 3RY

3. gRYEHT
4. UdIeR

Options :

686340163777. 1
686340163778. 2
686340163779. 3
686340163780. 4

Question Number : 46 Question Id : 68634041469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following is an ideal playhouse for staging a Sanskrit Classical drama?

1. Chaturasra jyeshtha

| B

. Vikrishta jyeshtha
3. Vikrishta madhyam
4. Chaturasra madhyam
Options :
686340163781. 1
686340163782. 2

686340163783. 3
686340163784. 4

Question Number : 46 Question Id : 68634041469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hhd QR e o g o e (gifed H I 1 31agi Are2ie 8:

TR Y

fapy =y

fapy A

4. IqRY ALH

—

[

fhd

Options :

686340163781. 1
686340163782. 2
686340163783. 3
686340163784. 4

Question Number : 47 Question Id : 68634041470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following Universities does not have a Department of Dance?

1. The Maharaja Sayajirao University of Baroda

[ )

. Rabindrabharat: University
3. Delhi University
4. Banaras Hindu University

Options :



686340163785. 1
686340163786. 2
686340163787. 3
686340163788. 4

Question Number : 47 Question Id : 68634041470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frifehd & O fbd fayfaermera # e faum =g ¢
1. f& AgRTST TArsiREG gfFafid 3w asiar
2. TigHRAl fayfaeey
3. facell fayfaere
4. 99 fe g fayfqeney

Options :

686340163785. 1
686340163786. 2
686340163787. 3
686340163788. 4

Question Number : 48 Question Id : 68634041471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which among the following does not classify under Aakashiki charis?

1. Apakranta

[ )

. Samapaada
3. Urdhvajaanu
4. Vidyudbhranta

Options :

686340163789. 1
686340163790. 2
686340163791. 3
686340163792. 4

Question Number : 48 Question Id : 68634041471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frgiferd H 9 fhget affenrur Sab1iRId! 9’ & 3idild gl fbar 71 6
1. 3OhIdl

2. {dHUIg

3. JES]
4. faqgyfar

Options :

686340163789. 1
686340163790. 2
686340163791. 3
686340163792. 4

Question Number : 49 Question Id : 68634041472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which among the following is not a folk dance?

1. Rouf

[ )

. Gidha
3. Rai
4. Yakshagana

Options :

686340163793. 1
686340163794. 2
686340163795. 3
686340163796. 4

Question Number : 49 Question Id : 68634041472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4. &

Options :

686340163793. 1
686340163794. 2
686340163795. 3
686340163796. 4

Question Number : 50 Question Id : 68634041473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How many types of Paadabhedas are mentioned in Abhinayadarpana ?

1. Two

b2

. Four

L¥ 5]

. Eight
4, Nine

Options :

686340163797. 1
686340163798. 2
686340163799. 3
686340163800. 4

Question Number : 50 Question Id : 68634041473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hf¥gedu § fhad UhR & U Hel &1 Il g2

1.4l
AR

-2

3. S
4.4

Options :

686340163797. 1
686340163798. 2
686340163799. 3
686340163800. 4

Question Number : 51 Question Id : 68634041474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who 1s the Nayika who dresses up and decorates herself with ornaments and garments and anxiously awaits
her beloved?

1. Abhisarika

2. Khandita

3. Vasakasajja

4. Kalahantarita
Options :
686340163801. 1
686340163802. 2

686340163803. 3
686340163804. 4

Question Number : 51 Question Id : 68634041474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(ifebd H I I H1 T1AT UReT 4R R 3R IYYUI 9 G Y W94 Dl GHiwid
& 310 Ty @1 ufdar gfEifad gie &l &-

1. SHTHHTRT
ERGIESERS TN
4. Eﬁ@lﬁ?‘ll?ﬁl

Options :

686340163801. 1

686340163802. 2

686340163803. 3
686340163804. 4

[

Question Number : 52 Question Id : 68634041475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How many types of Bandhava Hastas are mentioned in Abhinayadarpan?

1. Twelve

[

. Ten
3. Nine
4. Seven

Options :

686340163805. 1
686340163806. 2
686340163807. 3
686340163808. 4

Question Number : 52 Question Id : 68634041475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163805. 1
686340163806. 2
686340163807. 3
686340163808. 4

Question Number : 53 Question Id : 68634041476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which among the following is a Navagraha hasta?

1. Matsya hasta

[ B

. Vamana hasta
3. Varada hasta
4. Kujahasta

Options :

686340163809. 1
686340163810. 2
686340163811. 3
686340163812. 4

Question Number : 53 Question Id : 68634041476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[rifehd # 9 o1 19Ug g 8°
1. o g%
2. AHA g%
3. dg eXd
4. 59 g%

Options :

686340163809. 1
686340163810. 2
686340163811. 3
686340163812. 4

Question Number : 54 Question Id : 68634041477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s the other name of chaturasra jaathi Triputa Taala?
1. Eka Taala
2. Aadi Taala
3. Rupaka Taala

4. Thampa Taala

Options :

686340163813. 1
686340163814. 2
686340163815. 3
686340163816. 4

Question Number : 54 Question Id : 68634041477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ry Slifd AYe die &1 3= 11H &1 82

1. hdld

3. *Ydhdld

4. AH dled

Options :

686340163813. 1
686340163814. 2
686340163815. 3
686340163816. 4

Question Number : 55 Question Id : 68634041478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the following is not an institution of classical dances?
1. Kathak Kendra
2. Kalakshetra
3. Lalit Kala Akademi

4. Kalamandalam

Options :

686340163817. 1
686340163818. 2
686340163819. 3
686340163820. 4

Question Number : 55 Question Id : 68634041478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrgifebd # & o1 AR Jo bl He1 T8l &:
I. HYD Bg
2. Della
3. qferd dHell SfbIGHI

4. hdHSdH

Options :

686340163817. 1
686340163818. 2
686340163819. 3
686340163820. 4

Question Number : 56 Question Id : 68634041479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which among the following is not a dance form of Kerala?

1. Kathakali

[ )

. Keralanadanam

Lad

. Kuchipudi
4. Mohiniyattam

Options :

686340163821. 1
686340163822. 2
686340163823. 3
686340163824. 4

Question Number : 56 Question Id : 68634041479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[Frgifdd & 9 91 bR DI T el 6
1. HYDl

2. A TS4H

3. pl=Igel
4. Aifg-raTsH

Options :

686340163821. 1
686340163822. 2
686340163823. 3
686340163824. 4

Question Number : 57 Question Id : 68634041480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
How many types of Sattvika Bhavas are mentioned in Natyashastra?
1. Nine
2. Four
3. Six
4. Eight

Options :

686340163825. 1
686340163826. 2
686340163827. 3
686340163828. 4

Question Number : 57 Question Id : 68634041480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ATeIRd | Agifed § 9 foaa ysR & gifdd Hid &1 Iwd &
1A

3.9%
4. 3o

Options :

686340163825. 1
686340163826. 2
686340163827. 3
686340163828. 4

Question Number : 58 Question Id : 68634041481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which among the following is the Viniyoga of Tripataka hasta?

1. Krakacha

[ )

. Ketaki Kusuma
3. Natyarambha
4. Nayana

Options :

686340163829. 1
686340163830. 2
686340163831. 3
686340163832. 4

Question Number : 58 Question Id : 68634041481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[Fgiferd & 9 o1 Budie ged o fafanT ¢:

1. shhd

2. Dl HYA
3. ATERY

4. 444

Options :

686340163829. 1
686340163830. 2
686340163831. 3
686340163832. 4

Question Number : 59 Question Id : 68634041482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which among the following is not an ornament used in Bharatanatyam?

1. Kireetam

[ )

. Netrichutti
3. Adigai

4. Ralklkoti

Options :

686340163833. 1
686340163834. 2
686340163835. 3
686340163836. 4

Question Number : 59 Question Id : 68634041482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"HYGICIH | UYdd g I drell 3Tyl &:
1. BRIcH

A
 3dfeTrs
4. Yadhicl

Options :

686340163833. 1
686340163834. 2
686340163835. 3
686340163836. 4

-2

(el

Question Number : 60 Question Id : 68634041483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How many matras are there in Khanda Jaati1?

1. Six

[

. Three
3. Five
4. Seven

Options :

686340163837. 1
686340163838. 2
686340163839. 3
686340163840. 4

Question Number : 60 Question Id : 68634041483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4. {1d

Options :

686340163837. 1
686340163838. 2
686340163839. 3
686340163840. 4

Question Number : 61 Question Id : 68634041484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which 1s the Sthayibhava of Karuna Rasa?

1. Rati

| B

. Shanta

LF¥]

. Karunya

4. Shoka

Options :

686340163841. 1
686340163842. 2
686340163843. 3
686340163844. 4

Question Number : 61 Question Id : 68634041484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UM T BT RATHIEG S T g2
1. 30

3. PR
4. XD

Options :

686340163841. 1
686340163842. 2
686340163843. 3
686340163844. 4

Question Number : 62 Question Id : 68634041485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How many types of Shirobhedas are mentioned in the Abhinayadarpana?

1. Nine

b2

Six
3. Twelve
4. Eight

Options :

686340163845. 1
686340163846. 2
686340163847. 3
686340163848. 4

Question Number : 62 Question Id : 68634041485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163845. 1
686340163846. 2
686340163847. 3
686340163848. 4

Question Number : 63 Question Id : 68634041486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How many types of Rasas are mentioned in Natyashastra?

1. 8ix

[

. Nine
3. Ten
4. Eight

Options :

686340163849. 1
686340163850. 2
686340163851. 3
686340163852. 4

Question Number : 63 Question Id : 68634041486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 9%

3.qd

4. 3o

Options :

686340163849. 1
686340163850. 2
686340163851. 3
686340163852. 4

Question Number : 64 Question Id : 68634041487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which among the following classifies under Ashta Naayikas?

1. Saamanya

[ )

. Khandita
3. Mugdha
4. Kanya

Options :

686340163853. 1
686340163854. 2
686340163855. 3
686340163856. 4

Question Number : 64 Question Id : 68634041487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. {THT

3. T
4. H1

Options :

686340163853. 1
686340163854. 2
686340163855. 3
686340163856. 4

Question Number : 65 Question Id : 68634041488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which among the following is not an Anga of Taala?

1. Laghu

[ )

. Anudruta

Lad

. Jhampa

4, Druta

Options :

686340163857. 1
686340163858. 2
686340163859. 3
686340163860. 4

Question Number : 65 Question Id : 68634041488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Y
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4. 3d

Options :
686340163857. 1
686340163858. 2

686340163859. 3
686340163860. 4

Question Number : 66 Question Id : 68634041489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Khajuraho Festival is completely dedicated to the classical Indian dances.

Reason R: Khajuraho Festival is organised by the Govt. of Chattisgarh.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A
3. Ais true R 1s false
4. A 1s false R 1s true

Options :

686340163861. 1

686340163862. 2

686340163863. 3
686340163864. 4

Question Number : 66 Question Id : 68634041489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3.A g g dfPIR AT S

4. A A APIRII S
Options :
686340163861. 1
686340163862. 2

686340163863. 3
686340163864. 4

Question Number : 67 Question Id : 68634041490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Bharata classifies Nayikas into Four categories, based on their Guna(Virtues).

Reason R: Uttama Nayika is the one who possesses good virtues/qualities.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

| ]

. Both A and R are true but R 18 NOT the correct explanation of A
3. Ais true R 1s false
4. A is false R is true

Options :

686340163865. 1
686340163866. 2
686340163867. 3
686340163868. 4



Question Number : 67 Question Id : 68634041490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-id &1 By ST U §: s MUY (ASSERTION A) & ®0 H [0Rad & df GUd 39d ®RU (REASONR) & &9 1
HYHDHYT A - W3 H ARSI B I 00 & MR R IR 40 § arfiged fosan g

HRUIR - I TG 78 § O 309 01 T 5 |

SWRIed &Y & el H, -d feu U fdewed| § 9 99 Iuged 3w & 98- Sifa

1.A3RREHITH § IR R A DI Tgl AR ©
2. ARRGHI U g 3R R A DI ol AR ol 6

3.A I g dPIR 3T ©

4. p dEILAFTIRTTE
Options :
686340163865. 1
686340163866. 2

686340163867. 3
686340163868. 4

Question Number : 68 Question Id : 68634041491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R

Assertion A: Nandikeswara talks about hastas for different Gods and Goddesses, under Devata hasta

Reason R: Nandikeswara's Abhinayadarpana deals with the hastas used to denote the 10 incarnations of lord
Vishnu. under Dashavatara.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

12

. Both A and R are true but R 1s NOT the correct explanation of A
3. Ais true R 1s false
4. A 1s false R 1s true

Options :



686340163869. 1
686340163870. 2
686340163871. 3
686340163872. 4

Question Number : 68 Question Id : 68634041491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-id &1 By ST U §: s MUY (ASSERTION A) & ®0 H [0Rad & df GUd 39d ®RU (REASONR) & &9 1
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T B @ UefiE B
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. AR REM FE1 E HR R, A D] TS AR R §
ATRI g AfPTIR TS el ©

4. AGdl e g BT RSN B
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Options :

686340163869. 1
686340163870. 2
686340163871. 3
686340163872. 4

Question Number : 69 Question Id : 68634041492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason R

Assertion A:The matras of Teentaal is Hindustani Tala system and Chaturasra jaathi Rupaka Taala of Carnatic
Taala system are same.

Reason R:There are some Taalas in both Carnatic and Hindustani Taala system which have same number of
matras in it.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

[ ]

. Both A and R are true but R is NOT the correct explanation of A
3. Ais true R 1s false
4. Ais false R is true

Options :

686340163873. 1

686340163874. 2

686340163875. 3
686340163876. 4

Question Number : 69 Question Id : 68634041492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-id &1 By f3U U 3: U 3THBYA (ASSERTION A) & &0 H [6Rad § df GUU 34d BRUT (REASON R) & U H:
HiF A B! ad Usfa & 3 ard & 3E 3R $He® a1d USidd Iqiy wiid 306 d1d TegaH o
BRUR - Bled AR Bgmrl a1d Uid aHl 5 @ UH A giH & o /sl @1 9 11 Ue §9H Bid1 B

SWRIG Y o el 4. -id G0 U [ddedl & U Gad IUged 3k &l 984 DU
1. A 3R R & Hgl ¢ IR R, AP Yl ARAT &
2. AR R G gl ¢ 3R R. A DI Ho! URA ol o

3. ATei g dfbTR UEI Tol &
4. AT TS T RTEI S

Options :

686340163873. 1
686340163874. 2
686340163875. 3



686340163876. 4

Question Number : 70 Question Id : 68634041493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason R

Assertion A: In the variety of Indian culture, Raasalila is a common term used in almost all corners of India.

Reason R: Vaishnava movements in the medieval period gave rise to Raasalila forms and gradually they have
become a part of the dance endeavour of India.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R 1s the correct explanation of A

-2

. Both A and R are true but R is NOT the correct explanation of A
3. Ais true R is false
4. Ais false R is true

Options :

686340163877. 1
686340163878. 2
686340163879. 3
686340163880. 4

Question Number : 70 Question Id : 68634041493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-id &1 By f3U U 3: U 3THBYA (ASSERTION A) & &0 H [6Rad § df GUU 34d BRUT (REASON R) & U H:
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3. ATEI g AfBTR el T6i &
4. AYEI el g dfbIR U1 8

Options :

686340163877. 1
686340163878. 2
686340163879. 3
686340163880. 4

Question Number : 71 Question Id : 68634041494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other i labelled as Reason R

Assertion A: Bharata says Rasa results from a combination of Vibhava, Anubhava and Vyabhicharibhava.

Reason R: Bharat has used the term Sthayibhava to denote response.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

[ ]

. Both A and R are true but R 1s NOT the correct explanation of A
3. Ais true R 1s false
4. A1s true R 1s false

Options :

686340163881. 1

686340163882. 2
686340163883. 3



686340163884. 4

Question Number : 71 Question Id : 68634041494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-id &1 By f3U U 3: U 3THBYA (ASSERTION A) & &0 H [6Rad § df GUU 34d BRUT (REASON R) & U H:
HHDHYT A - 4 BT B ¢ fos 19 faura. sFHa SR iRt 49 9 34 gidl gl

@HRUIR - H3d 3 61 DI 371d B & o0 Rdivig g &1 ugi & &)

SR HYH o el 4. -id [GU Y [ddedl o U Uay IUged SR &l 984 DI

1. AR R G Hel g SIRR. A DI Hgl AR ¢

2. A 3R R &I gl § 3R R, A I Ug! oIS Tgi o
3. Awgig iR I el 8

4. ATRI T8I ¢ AfBA R Tel ©

Options :

686340163881. 1
686340163882. 2
686340163883. 3
686340163884. 4

Question Number : 72 Question Id : 68634041495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other i1s labelled as Reason R

Assertion A: Nritta contains a great amount of dynamic movements of limbs and 1s not expected to convey
any specific meaning,

Reason R: Nritta 1s devoid of Abhinaya and solely bases itself on the Taala and Laya.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

-2

. Both A and R are true but R is NOT the correct explanation of A
3. Ais true R 1s false

4. A s false R is true



Options :

686340163885. 1
686340163886. 2
686340163887. 3
686340163888. 4

Question Number : 72 Question Id : 68634041495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-id &1 By f3U U 3: U 3THBYA (ASSERTION A) & &0 H [6Rad § df GUU 34d BRUT (REASON R) & U H:
HAwUT A - T9 T ST & 950 S TaeH gidl 8 R 309 @i [ary 3l TUw & geren Tef aidi 8

®HRUIR - Ja H AT 981 8ia1 8 3R 98 Yofc: a1 o o | 2A1u1id &1

SWRIGd By & el H, i 86U U [ddedl § ¥ gad Iugad IR &l 98- DIy

1. A 3R R G gl ¢ IR R, A DI Hg! URAT §

2. ARRGHI el § IR R, A DI el AR ol o
3. AYEI g il R Ue! T8l ¢

4. AYE ol g AR Tl §

Options :

686340163885. 1
686340163886. 2
686340163887. 3
686340163888. 4

Question Number : 73 Question Id : 68634041496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sequence of the following Tala-s according to the shloka:

A. Rupaka
B. Ata
C. Eka
D. Triputa
E. Thampa

Choose the correct answer from the options given below:

1.AC.D.E.B

[ )

ALED.B.C
3:AB € B.D
4.B.C.A.D.E

Options :

686340163889. 1
686340163890. 2
686340163891. 3
686340163892. 4

Question Number : 73 Question Id : 68634041496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Telieh o THR AR drel & Tet 3 Bl g

A ITF
B. 3fC

C. U@l
D. fAge
E. 94

H1d faU 71U fdsh el | I Ul 31k &l 99 Sifore:

I IR H

—

[

A EDBC

fad

By B B D

4. B. C.AD.E

Options :
686340163889. 1
686340163890. 2



686340163891. 3
686340163892. 4

Question Number : 74 Question Id : 68634041497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following Kathak Exponents serially from senior to junior.

A, Bindadin Maharaj
B. Durga Prasad

C. Achchhan Maharaj
D. Deepak Maharaj
E. Tribhuvan Mahara;

Choose the correct answer from the options given below:
LAB.CBE
2.AD,B,C.E
3CCD.B,.E.A

4 B.A.C.D.E

Options :

686340163893. 1
686340163894. 2
686340163895. 3
686340163896. 4

Question Number : 74 Question Id : 68634041497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafafad ey ufdures! o1 Ry I $FY & shH | Fafyd SIS

A. fa<rdiF AgR™
B. GYIYEIG

C. 35 HERI
D. 2lush HERIY

E. AYaT AgR
i< feu T fdehedl | I Het 3OR 1 =4 Difoid:

L& B.C.D.E

2. A,D.B.C.E
3.6, DB . E A

4. B, A, C.D.E

Options :

686340163893. 1
686340163894. 2
686340163895. 3
686340163896. 4

Question Number : 75 Question Id : 68634041498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following Sattvika Bhavas in their correct sequence. according to the Shloka:
A. Vepathu
B. Asmu
C. Sveda
D. Pralaya
E. Romancha

Choose the correct answer from the options given below:
1.A,€.B.D,E
2.80:B, . E.D
3.C,A,D,E.B
4.C.E.A.B,D

Options :
686340163897. 1
686340163898. 2



686340163899. 3
686340163900. 4

Question Number : 75 Question Id : 68634041498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FrafaRad Tifd® vidl &1 TP & IR 3T § TR DHIfoTe:

A.duy
B. 34
C. HWdq

D. Uy
E.HH

H1d faU 71U fdsh el | I Ul 31k &l 99 Sifore:

L& C HBILE

[

AsBCE. B

fad

AEA; DLE B

4. C,EAB.D

Options :

686340163897. 1
686340163898. 2
686340163899. 3
686340163900. 4

Question Number : 76 Question Id : 68634041499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following Dashavatara hasta in their correct sequence

A, Krishna

B. Koorma

C. Narasimha
D. Parashurama
E. Varaha

Choose the correct answer from the options given below:
1.B. E C 1A
2B . C,EED A
3.B.E.D.A.C
4. A.B,D.C.E

Options :

686340163901. 1
686340163902. 2
686340163903. 3
686340163904. 4

Question Number : 76 Question Id : 68634041499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFafRad SRIadR g%l I Jel 3hH H HaRUd DI

A. P
B. BH
C. e
D. IRRRMH
E. I8

H1d faU 71U fdsh el | I Ul 31k &l 99 Sifore:

LB ECID A

[

B CE DA

fad

By E D AC

4. A,B.D.C E

Options :
686340163901. 1
686340163902. 2



686340163903. 3
686340163904. 4

Question Number : 77 Question Id : 68634041500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following Gati (Gait) Bhedas in correct sequence, according to shloka:

A, Hamsi
B. Simbi
C. Mayuri
D. Gajalila
E. Manavi

Choose the correct answer from the options given below:

1LACD.EB

[ ]

.A.B.C.D,E
3JACDBE
4 ADCEB

Options :

686340163905. 1
686340163906. 2
686340163907. 3
686340163908. 4

Question Number : 77 Question Id : 68634041500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[FrafeRad Tid (1) Ye &I Kdid & TR Jol 3HH H dRYd HIo:
A g4l

B. [¥dl

. 7gd

D. TTofeflel

E. A4l

H1d faU 71U fdsh el | I Ul 31k &l 99 Sifore:

L& C. 1D EB

2. 8,8, C; D E
3.4, €, D.B.E

4.A,D,C.E,.B

Options :

686340163905. 1
686340163906. 2
686340163907. 3
686340163908. 4

Question Number : 78 Question Id : 68634041501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following Dasharupakas in their correct sequence:

A. Bhana

B. Prahasana
C. Thamriga
D. Vyaayoga
E. Dima

Choose the correct answer from the options given below:

1LAC.D.BE

b2

G ABUE, O
3IDAECE
4 A C,D.E.B
Options :

686340163909. 1
686340163910. 2



686340163911. 3
686340163912. 4

Question Number : 78 Question Id : 68634041501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FafRad SRUS| &1 Ugl 3ibhH H Hafyd HIfT:

A. HIS
B. Ugd-

C. 38
D. AN

E.SF
H1d faU 71U fdsh el | I Ul 31k &l 99 Sifore:

L& C. 1. BE

[

A B BT

fad

D AE C. B

4. A,C,D,E,.B

Options :

686340163909. 1
686340163910. 2
686340163911. 3
686340163912. 4

Question Number : 79 Question Id : 68634041502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following Swabhavaja Alankaras of women in correct sequence:

A, Vicchati
B.Lila

C. Lalita

D. Vilasa

E. Vibhrama

Choose the correct answer from the options given below:
1B, B, AE. €
2 ABDEC
3.B.D.E.A.C
4. B.E.D.A.C

Options :

686340163913. 1
686340163914. 2
686340163915. 3
686340163916. 4

Question Number : 79 Question Id : 68634041502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Afgarefl & FufiRad THES sdaRI ®1 T8l SHH H AT BT

A. fa=sfd
B. @ldl
C. dferd
D. fadr™g
E. faudg

H1d faU 71U fdsh el | I Ul 31k &l 99 Sifore:

LBDATEC

[

A B D E €

fad

B ELEAC

4. B. E D, AC

Options :
686340163913. 1
686340163914. 2



686340163915. 3
686340163916. 4

Question Number : 80 Question Id : 68634041503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: Yaksha Ga™ is a famous folk dama form

Statement IT: yaksha Ga™ belongs to Gujrat
In the light the above statements, choose the correct answer from the options given below

1. Both statements I and statements II are true

[ ]

. Both statements I and statements [T are false

L¥¥]

. Statements I is true but Statements II is false

4. Statements I is false but Statements IT is true

Options :

686340163917. 1
686340163918. 2
686340163919. 3
686340163920. 4

Question Number : 80 Question Id : 68634041503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CIE ARG AT =2
FYT I T&TH Teh Uileg Al o 139 o

FYF I1: T&ATH ToR1d U Yalef TG & |

SR HYH o el 4, -d [GU Y [ddedl ¥ U 9ay IUged ST & 984 DIy
1. HY 1R IS U8l 8
2. FYF 13RI EHITad &
3. YT G o, dfchT HYA 11 7TeTd &
4. DY 1A &, Al HYF 11951 §

Options :
686340163917. 1
686340163918. 2



686340163919. 3
686340163920. 4

Question Number : 81 Question Id : 68634041504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Statements I: Abhisarika Nayika gives to meet her lover in the darkness of the night

Statements II: Abhisarika Nayika diswwvers that her lover 1s attracted powerds anwther womans and avoids
her.

In the light of the above statements. choose the correct answer from the options given below

1. Both statements I and statements IT are true

[ ]

. Both statements I and statements II are false
3. Statements I 1s true but Statements IT is false

4, Statements [ is false but Statements IT is true

Options :

686340163921. 1
686340163922. 2
686340163923. 3
686340163924. 4

Question Number : 81 Question Id : 68634041504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i &l Py e e &
FYT 1. TR ARSI, I b ek F 20 et § Fiyer ot B
FYT 11 ARG A1 - 98 Wi fomr & fos 3ud U gudl fd &1 3R 36iid & 3k 39 Y Sadi gl
SWRIad &Y & el H, -id feu U fdeed| § 9 99 Iuged 3w & 98- Sifa
1. BYT 1 31R I aH Uel 8

2. YT 1 3R I Tad &
3. FYyH 198 g, dfd T puF 1 Tad

4. HYT 1A ©, Wi YT 1 T8l ©

Options :

686340163921. 1
686340163922. 2
686340163923. 3



686340163924. 4

Question Number : 82 Question Id : 68634041505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
statements I : Jayadeva's Ashtapadi is performed only in Odissi Dance form
statements I : Ashtapadi has only three choracters i it i. ¢ Krishna, Radha and sakt

In the light of the above statements. choose the correct answer from the options given below

1. Both statements I and statements IT are true

| )

. Both statements I and statements II are false
3. Statements I 1s true but Statements IT is false

4. Statements I is false but Statements IT 1s true

Options :

686340163925. 1
686340163926. 2
686340163927. 3
686340163928. 4

Question Number : 82 Question Id : 68634041505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i &l FY TR e &
FYF 1. Sihcd &I HPUC] dbad siifsdl 7 $U 1 Ualkid & 9rdl &
HYT I 3PSt & HidR dad dH IR &, o, 141 3R Tl
IR &Y & el H, - feU U el § 9 999 Iugad I &l 904 $ifae

1. HY [ 3R IaFiael &
2. HYT 1 3R T S Tad €
3. HYT1 TSI ¢, AT HUT 1T ©

4. HYT17T0d ©, dfh HYT 11 Tl ©

Options :

686340163925. 1
686340163926. 2
686340163927. 3
686340163928. 4



Question Number : 83 Question Id : 68634041506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Statements I: Kathakali Allows Hastalakshana Deepika for the use of hand gestures
Statements II: Kathakali is the only classical dance form which follows Hasta Lakshana Deepika
In the light of the above statements, choose the correct answer from the options given below
1. Both statements I and statements II are true
2. Both statements I and statements IT are false
3. Statements I 1s true but Statements II is false
4. Statements I is false but Statements IT is true
Options :
686340163929. 1
686340163930. 2

686340163931. 3
686340163932. 4

Question Number : 83 Question Id : 68634041506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EIERAR RIS RTAEI S
BYT I HYUDB], SxI-51311 b TGN o e10 g¥-I&iur ST &1 S8R &idl &
FYF I1: YD, Hebal AT T TU g T §EI-TTAT SiUes] B AR &l &

SWRIGd By & el H, i 84U 7Y [doedl § ¥ gad Iugad IR &l 98- DIy
1. Y 1 3R M aHi Aol 6
2. HY 131R 1S Tad 8
3. BYT1 98! ¢, dih1 pY m¥Tad 8
4. DY ©, Afch-1 HYT I G §

Options :

686340163929. 1
686340163930. 2
686340163931. 3
686340163932. 4

Question Number : 84 Question Id : 68634041507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Statements [: Nandikeswara talks about Eight Drishit Bheahs in his Abhinayadrapana
Statements [I: Nandikeswara also talks about Viniyogas for each Drishti Bheda
In the light of the above statements. choose the correer answer from the options given below
1. Both statements I and statements II are true
2. Both statements I and statements IT are false
3. Statements I is true but Statements II 1s false

4, Statements I is false but Statements II is true

Options :

686340163933. 1
686340163934. 2
686340163935. 3
686340163936. 4

Question Number : 84 Question Id : 68634041507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el &l By e T &
HYF I TRIPHR, 30 ATHTT TG0 H 218 2P He &b g H &1d b 6|
FYT 11 TEIPAR, T 2 4 & g, fatmm & ar d i g s 81
SWRIed &Y & el H, -d feu U fdewed| § 9 99 Iuged 3w & 98- Sifa
1. B2 1R 13T Oel §
2. BY 1 3R IS Ted §

3. T IO S, A FYT u e ©

4. FYH | Tad g, oifth &Y 1 Te 8

Options :

686340163933. 1
686340163934. 2
686340163935. 3
686340163936. 4

Question Number : 85 Question Id : 68634041508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



statements I: The symbolic representation of Dhruva Taala 1s 1100
statements II: Chaturasna Jaati Dhruva Taala contains 12 matras
In the light of the above statements. choose the correct answer from the options given below

1. Both statements I and statements IT are true

| )

. Both statements I and statements II are false
3. Statements I is true but Statements II is false

4. Statements I 1s false but Statements II 1s true

Options :

686340163937. 1
686340163938. 2
686340163939. 3
686340163940. 4

Question Number : 85 Question Id : 68634041508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i @ Py RRU e &
FYA I §d d1al @l [ied WiaFfEE 1100 &1
FYT 1T I A1 & Yd I | 12 TEN B B
IR &Y & el H, - feU U el § 9 999 Iugad I &l 904 $ifae

1. HY [ 3R IaFi el &
2. HYT 1 3R T S Tad €
3. HUT 1 TGl §, dichd HYF 1 TTdd ©

4. HYT17T0d ©, dfh HYT 11 Tl ©

Options :

686340163937. 1
686340163938. 2
686340163939. 3
686340163940. 4

Question Number : 86 Question Id : 68634041509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



statements I: Srinagar Rasa has been broadly divided into three categaries
statements II: have in union is known as sambhoga sringara
In the light of the above statements. choose the correct answer from the options given below

1. Both statements I and statements IT are true

| )

. Both statements I and statements II are false
3. Statements I is true but Statements II is false

4. Statements I 1s false but Statements II 1s true

Options :

686340163941. 1
686340163942. 2
686340163943. 3
686340163944. 4

Question Number : 86 Question Id : 68634041509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el &l YA R T &
FYF I YR T 0P 39 4 I &1 H fayiiord g gl
FYF 11 UH B TATET GHTT 7R Heard! gl
IR &Y & el H, - feU U el § 9 999 Iugad I &l 904 $ifae
1. B2 1R 11 EH e e

2. Fy 1 AR ngHiTed

3. YT T, Afh HYT 11 7TAd o
4. HUT 1T g, dih YT 1 T8l &

Options :

686340163941. 1
686340163942 2
686340163943. 3
686340163944. 4

Question Number : 87 Question Id : 68634041510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following dances have originated from the state of Madhya Pradesh?

A. Rai

B. Ramleela
C. Lavani
D. Karma
E. Kummi

Choose the most appropriate answer from the options given below:

1. Aand B only

[ ]

.B and D only
3. Aand D only

4. B and C only

Options :

686340163945. 1
686340163946. 2
686340163947. 3
686340163948. 4

Question Number : 87 Question Id : 68634041510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I U diPp-Id, 7L U= Iod U IdH (HRY) §U 62

A. Y™
B. IH-dIdl
C. S guit

D. SHi

E. $iHI
i feT T fawedl & 9 98l IR @1 994 Hifore:
1.A3RR

2.B3RD

3.A3RC

4.BaRC

Options :
686340163945. 1
686340163946. 2



686340163947. 3
686340163948. 4

Question Number : 88 Question Id : 68634041511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following Taalas have same Vibhaga?

A. Jhap Taala
B. Sool Taala
C. Choutaala
D. Adachoutaala
E. Eka Taala

Choose the correct answer from the options given below:

1. Aand B only

[ )

C and E only
3. B and D only
4.D and E only

Options :

686340163949. 1
686340163950. 2
686340163951. 3
686340163952. 4

Question Number : 88 Question Id : 68634041511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FafciRad A 9 &1 9 drd & [T 9491 ¢

A. IO dTd
B. gd dId
C. didrd

D. 33

E. T dId
19 faU ¢ fae el | 9 gl SR &I 99 IS
1. dd AR B

2. %ad C 3R E

3. Hdd B 3R D

4. $dd D 3R E

Options :

686340163949. 1
686340163950. 2
686340163951. 3
686340163952. 4

Question Number : 89 Question Id : 68634041512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are Taaladasha pranas:

A. Mayuri

B. Taati

C. Ardhapataka
D. Yati

E. Akashiki

Choose the correct answer from the options given below:

1. Aand D only

| )

. E and C only
3.B and D only
4. D and C only
Options :

686340163953. 1
686340163954. 2



686340163955. 3
686340163956. 4

Question Number : 89 Question Id : 68634041512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fgfefad A9 &1 9 drd <= 9 g2
A T
B. SIfdT
C. HHUdIPI
D.gfd
E. HIHIAD

- fau e fadedl O 9 gl 3R &l 9a4 SIfe:
I.A3RD

_E3RC

.B3RD

4.D3RC

Options :

686340163953. 1
686340163954. 2
686340163955. 3
686340163956. 4

[
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Question Number : 90 Question Id : 68634041513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following are the classifications of Hasya Rasa?

A. Daivi
B. Smita
C. Samyoga
D. Atihasita
E. Manushi

Choose the correct answer from the options given below:

1. B and D only

[ )

. A and D only
3. Aand C only

4. B and E only

Options :

686340163957. 1
686340163958. 2
686340163959. 3
686340163960. 4

Question Number : 90 Question Id : 68634041513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFfeRad | 9 &1 I 8RY T & Jd0 g2
A. cdl

B. {1

C. TgrT

i feT T fawedl & 9 98l IR @1 994 Hifore:
1. $Had B 3R D

. Pdd ASRD

A AR C

4.%dd B3R E

Options :
686340163957. 1
686340163958. 2

[
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686340163959. 3
686340163960. 4

Question Number : 91 Question Id : 68634041514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the following are Padabhedas?

A. Kampitam
B. Utplavana
C. Dhutam
D. Blhramari
E. Saaclu

Choose the correct answer from the options given below:

1. Aand C only

[ )

.Aand E only
3. B and C only
4. B and D only

Options :

686340163961. 1
686340163962. 2
686340163963. 3
686340163964. 4

Question Number : 91 Question Id : 68634041514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Faffedd S yene g

A. HIGH
B. 3&id

C. Y
D. Yl

E. g
- fau e fadedl O 9 gl 3R &l 9a4 SIfe:
1. hdd AR C

2. had A 3R E

3. HAdB AR C

4. $dd B 3R D

Options :

686340163961. 1
686340163962. 2
686340163963. 3
686340163964. 4

Question Number : 92 Question Id : 68634041515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following are the Greevabhedas?

A. Sundari
B. Sama

C. Tiraschina
D. Kampita
E. Dhuta

Choose the correct answer from the options given below:

1. C and E only

| )

.Aand D only
3. Aand C only
4. A and B only
Options :

686340163965. 1
686340163966. 2



686340163967. 3
686340163968. 4

Question Number : 92 Question Id : 68634041515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrfafad # 9 19 9 dlae g2
A gl

B. {HI
C. feRIE

D. BRI
E. ¢fdl

- fau e fadedl O 9 gl 3R &l 9a4 SIfe:
1.C 3R E
2.A3RD
3.A3RC
4.ASRB

Options :

686340163965. 1
686340163966. 2
686340163967. 3
686340163968. 4

Question Number : 93 Question Id : 68634041516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following are the Viniyogas of suchi hasta?

A. Vapushi

B. Romallyam
C. Pushpavarsha
D. Valmika

E. Lochana

Choose the correct answer from the options given below:

1. Aand B only

[ )

. A and E only
3.Band C only
4. C and D only
Options :
686340163969. 1
686340163970. 2

686340163971. 3
686340163972. 4

Question Number : 93 Question Id : 68634041516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafi & G 1 3 e o & AR

A. TNt
B. JHCTH

C. gay(

D. gI®I

E. Al
i< fau T fahegi | 9 gl IR BT 99 HIfoie:
l.adRE

2.A3RE

3.B 3R C
4.C 3R D

Options :
686340163969. 1
686340163970. 2




686340163971. 3
686340163972. 4

Question Number : 94 Question Id : 68634041517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
. |Sthayi Bhava 1. |Vepathu
[Vvabhichari Bhava | II. |Sringara
Sattvika Bhava ITT. |Krodha
R asa IV |Asoova

SEEE

Choose the correct answer from the options given below:

1. A-IIL. B-IV. C-I. D-II

| E)

. A-L B-II, C-III. D-IV
3. A-IIT, B-1, C-1II. D-IV
4. A-IT1, B-1. C-IV. D-II

Options :

686340163973. 1
686340163974. 2
686340163975. 3
686340163976. 4

Question Number : 94 Question Id : 68634041517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gl 11 =1 11 9 e Sifsy

T 1 T
Tl HId L [duy
CATHERI 419 | I [3FTR
g 419 | 1L [B1Y

i IV. [

FgfRad [deedl 8 I Tgl IR &1 994 IO ;

1. A-III, B-1V, C-1, D-1I

ofofw>

2. A-L, B-1I, C-IIIL, D-IV

fad

. A-III, B-1, C-1I, D-IV
4. A-III, B-1, C-IV, D-1I

Options :

686340163973. 1
686340163974. 2
686340163975. 3
686340163976. 4

Question Number : 95 Question Id : 68634041518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
A |Gajaleela I. [Laya
B. [Vikrishta 1L |Gat
C. |[Vilambita III. |Prekshagruha
D |Chaturasra V. [Jati

Choose the correct answer trom the options given below:

1. A-L. B-IL. C-III. D-IV
2. A-TI, B-IV. C-III, D-I
3. A-IIL B-I, C-II. D-IV
4. AL B-III, C-I. D-IV

Options :

686340163977. 1

686340163978. 2

686340163979. 3
686340163980. 4



Question Number : 95 Question Id : 68634041518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1T =l 11 9 A Sifs
= T o
EE

A [TTSITefTe 2

B. [[GHF 1. [ifd
C. [fdcifsd 111 [J&TE
D. [aR¥ IV. [afd

FyfaRad fawedl I 4 9gl 3R &1 98+ Hifold ;

. A-I, B-11, C-IIL, D-1IV

[—

2

. A-II, B-1V, C-1I1, D-1

Lad

.A-II, B-I, C-II, D-IV

4. A-I1, B-1II, C-L, D-IV

Options :

686340163977. 1
686340163978. 2
686340163979. 3
686340163980. 4

Question Number : 96 Question Id : 68634041519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Vatsyavana 1. |Kamashastra
K autilva II. |Arthshastra

[Banabhatta 111 [Harshacharitam
Sarangadeva | IV [Sangeet Ratnakara

e

Choose the correct answer from the options given below:

1. A-I. B-II, C-III. D-IV

| )

. A-TL, B-III, C-IV. D-I
3. A-IIL B-IV. C-II. D-I
4. A-IV. B-IIL. C-11. D-I

Options :



686340163981. 1
686340163982. 2
686340163983. 3
686340163984. 4

Question Number : 96 Question Id : 68634041519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1T =l 11 9 A Sifs
A I T I

ATEaTa 1. (@R
@il . |ereem=

GTUTHE 1L [gyaias
AT TGa I UIGECIGE

FyfaRad fawedl I 4 9gl 3R &1 98+ Hifold ;

. A-I, B-11, C-IIL, D-1IV

ofo[w>

[—

2

. A-II, B-1IL, C-1IV, D-1

fad

. A-III, B-1V, C-11, D-1
4. A-IV, B-II, C-11, D-1

Options :

686340163981. 1
686340163982. 2
686340163983. 3
686340163984. 4

Question Number : 97 Question Id : 68634041520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Bharatanatvam| [. |Tabla
B. |[Kathakali II. |Chenda
C. [Kathak 1. [Pung
D. Manipuri IV, Mridangam

Choose the correct answer from the options given below:

1. A-L, B-ll, C-III, D-IV

-2

.A-IV, B-1I, C-I, D-III

fad

. A-1IV, B-1III, C-II, D-I
4. A-I1, B-1V, C-1, D-III

Options :

686340163985. 1
686340163986. 2
686340163987. 3
686340163988. 4

Question Number : 97 Question Id : 68634041520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1T =l 11 9 A Sifs

Gl TqA I
A |HRgdegs | L [gsan
B. [Fyddl 1. [
C. [pUD 11 [g71
D. [AUIGET IV [{eH

FyfaRad fawedl I 4 9gl 3R &1 98+ Hifold ;

1. A-L, B-II, C-III, D-IV

2

. A-IV, B-11, C-1, D-1II

fad

. A-IV, B-111, C-I1, D-I
4. A-II, B-IV, C-1, D-III
Options :

686340163985. 1
686340163986. 2



686340163987. 3
686340163988. 4

Question Number : 98 Question Id : 68634041521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Sapta Taala I. Mrdanga
B. [aati II. [Laghu
C. |Anga III. JJhampa
D. [Yati IV. |Chaturasra

Choose the correct answer from the options given below:
1. A-IIT, B-II., C-IV, D-I
2. A-IIL, B-11, C-1, D-IV
3. A-1IL, B-1V, C-II, D-1
4. A-I, B-II, C-III, D-IV
Options :
686340163989. 1
686340163990. 2

686340163991. 3
686340163992. 4

Question Number : 98 Question Id : 68634041521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gl 11 =1 11 9 e Sifsy

A1 T
A L d1dd I [HET
B. [@Ifd 1. [
C. |3f II1. [3g
D. [@fd IV [gdiE

FgfRad [deedl 8 I Tgl IR &1 994 IO ;

1. A-III, B-II, C-IV, D-1

[

. A-IIT, B-1I, C-1, D-1IV

fad

. A-III, B-1V, C-11, D-1
4. A-I, B-II, C-IIL, D-IV

Options :

686340163989. 1
686340163990. 2
686340163991. 3
686340163992. 4

Question Number : 99 Question Id : 68634041522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A Vit I. |Panchala Madhvama
B. |Pravritri II. Daiviki
C. |Siddhi 1. |Avanaddha
D. |Atodva IV [Kaisiki

Choose the correct answer from the options given below:

1. A-IV, B-II, C-1, D-III

-2

. A-IV, B-1, C-III, D-II

fad

. A-III, B-1IV, C-II, D-1
4. A-1V, B-1, C-1I, D-1II
Options :

686340163993. 1
686340163994. 2



686340163995. 3
686340163996. 4

Question Number : 99 Question Id : 68634041522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 1 1 gt 1 9 He Diforg
T 1 T

Ao 1. [oferd 5ee

B. [gftd 1L [GIP]

C. [Eig 1L 33758

D. [3Tdlg IV. [bf21l

FEfaRad fawedl § 4 Hel 3R &1 95 BifolY ;

1. A-IV, B-II, C-1, D-III

]

. A-IV, B-1, C-III, D-1I

Lad

. A-IIL, B-1V, C-11, D-1
4. A-1V, B-1, C-II, D-III

Options :

686340163993. 1
686340163994. 2
686340163995. 3
686340163996. 4

Question Number : 100 Question Id : 68634041523 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I Films List IT Choreographers
[Kalpana I. |Shambhu Bhattacharva
Gupt Gaven Baha Bayene| II. [Uday Shankar
JThanak Jhanak Paval Baje| IT1. |Birju Maharaj
Shatrang ke Khiladi IV, |Gopi Krishna

ofofw[>

Choose the correct answer from the options given below:
1. A-L, B-ll, C-III, D-IV
2. A-11, B-1, C-1V, D-1IL
3. A-1IL, B-1V, C-II, D-1
4. A-1IV, B-I1L, C-1I, D-1
Options :
686340163997. 1
686340163998. 2

686340163999. 3
686340164000. 4

Question Number : 100 Question Id : 68634041523 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1T =l 11 9 A Sifs

= 1 (he) aiﬁmﬂ%ﬁuhrm
L [ery Yo

T T 1T S | 1L [Se0 e

2D D U dla| 1L [fS¥s] HgRIS
RIcRe & Rgarel | I it

FyfaRad fawedl I 4 9gl 3R &1 98+ Hifold ;

1. A-L, B-II, C-III, D-IV

REE

2. A-1I, B-1, C-1V, D-1IT

3. A-IIL, B-1V, C-II, D-I

4. A-IV, B-1I1I, C-II. D-I
Options :

686340163997. 1
686340163998. 2



686340163999. 3
686340164000. 4



